Math 285 Sample Exam 1 Version A

1. Solve the initial value problem 3’ + 3y = e~3% with y(0) = 7.
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2. Solve (e*¥ — y)(cos I)Eg— = e¥¢in 2z with y(0) = 0.
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3. Draw a phase portrait and solution curves for the autonoumous first-order ordinary
differential equation ¥’ = y* — By below. Label the stationary points and determine
whether they are stable, unstable or semi-stable.
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4. Show that the ordinary differential equation
(ycosz 4 2ze¥)dz + (sinx + z%e¥ + 2)dy = 0

is exact. and find the general solution.
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dy 2z ,
5. Find the unique solution to —J = with y(0) = 1.

r 1+ 2y

L penadda
5(1#27),9&1 —:fz_zdd

Thais
'7)"?237(2'/’6?‘ /\5%%““,4/;5%;3/_
Solve o C,

1+ 15 = 0% C o C=2.

Hen e
yey -2
Neote é,(rlcg ’7 !R/r 9,(0-04'7 /\Mfﬁ'ﬁf"é :\r( rms J‘.F
a Vadm; e eﬁ—aeﬁw Fharu 1S shd o 5gh
s Ae %(/m},taaa( yn The 74«44(,./7291 g T make
—/‘*;urg Wrc"ro‘ﬂl wit ém ’Mi_ Vacg/bj"r@ Cfucu[fﬁ’(
y ey - fer) 7O

f),.r;:[{f a= / =1 L:-’C%Z'/'z—:) o @/{’»(\n

f

(T A AT
2-

v Z_ / -
Jrace ?/o);/ e 5 Lok Zﬁxﬁ&;s ;Jfa/rif)/,

Loiigut 50 wd?et /
W’ﬁ _ /W2y
2 ’

p—
e




Math 285 Sample Exam 1 Version A

6. Find the general solution to the differential equation é( Vw
Z
x
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7. Find the general solution to the differential equation
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